EXPANDING DOUBLE BRACKETS

Answer all of these questions. Remember to show your working out in all questions.

MAIN QUESTIONS
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MASTER QUESTIONS =)

M1.

A rectangle has length (x + 5) cm and width (x + 3) cm. Find the expanded
mipression for its area.

The area of a square garden is given by (x + 4)?. Expand this expression.

M3.

A rectangular field has dimensions (2x + 3) m by (x - 2) m. Calculate its area
in expanded form.



Ma.

The product of two consecutive numbers can be written as (x)(x + 1). Expand
H’sis expression.

A box has length (3x + 2) cm, width (2x - 1) cm, and height (x + 4) cm. Find
the expanded expression for its volume.



